C1 CHAPTER 5

COORDINATE GEOMETRY IN THE (x, y) PLANE

THE EQUATION OF A STRAIGHT LINE

A straight line equation may be in one of two forms;

y = mx + c

where m = gradient & c = y-intercept

or

ax + by + c = 0
where a, b & c are integers

Example

For the line 4x + 3y – 6 = 0, find the gradient and the coordinates of the intersections with both axes.
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Note: parallel lines have equal gradients
Ex 5A

THE GRADIENT OF A LINE THROUGH TWO GIVEN POINTS
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Example

The gradient of the line joining points (-2, 5) and (3, b) is – 2

Find b
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Ex 5B

EQUATION OF A LINE OF GIVEN GRADIENT THROUGH A GIVEN POINT
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Example

Find the equation of a straight line of gradient 2 through the point (-3, 7)
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Example
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Ex 5C

THE EQUATION OF A LINE THROUGH TWO GIVEN POINTS
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Example
Find the equation of the line through the points (5, 12) and

(-2, 7) in the form ax + by + c = 0
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Ex 5D

PERPENDICULAR LINES
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Example

Find the equation of the line that is perpendicular to the line
2y + x = 8 and goes through the point (5, -2)
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Ex 5E

Mixed Ex 5F
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If 2 lines are perpendicular, product of gradients = -1
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